Bai 1: S6?

Ihm = ooeee m
ldam =....... m
Ilhm =....... dam
lkm =........ m
Bai 2: S6?
Tdam=....... m
9dam=....... m
6dam=....... m
Bai 3: So?
lkm=....... hm
lkm=....... m
lhm=....... dam
lhm=....... m
ldam=....... m
Bai 4: S6?
ShM'= sowans m
ohm=....... m
7dam = ...... m
ddam=...... m

Im =....... dm
Im =....... cm
lem=....... mm
Im =....... mm
THN= oveiae m
9hm=...... m
FhIn = 55000 m
Im=....... dm
Im=....... cm
Im=....... mm
ldm=....... cm
lem=...... mm
B e dm
o= ;vuwind cm
gem=....... mm
4dm=....... mm
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Bai 5: S6?

3m2cm=.......... cm

dm 7cm=.......... cm

Bai 6: Tinh:

25dam + 50dam = ..........

8hm + 12hm =
36hm + 18hm =
Bai 7: Tinh:

2M X2 = iiviuss
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45dam — 16dam =
67hm - 25hm=..........
72hm —48hm=.........
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